

**A STUDY OF CERTAIN MIXED FAMILY OF LINEAR POSITIVE OPERATORS IN APPROXIMATION THEORY**

By

**Prerna Maheshwari (Sharma) and Rupa Sharma**

Department of Mathematics

SRM IST Delhi-NCR Campus, Ghaziabad, Uttar Pradesh, India

mprerna\_anand@yahoo.com

(Received : November 24, 2017 ; Revised: July 15, 2018)

**Abstract**

In the present paper, we study about the integral modification of linear positive operators namely Meyer-Konig and Zeller operator. We also find the rate of convergence for function of bounded variation for these operators.

**Keywords and phrases:** Simultaneous approximation, Rate of convergence, Bounded variation.

**2010 Mathematics Subject Classification:** 41A25, 41A30

**1 Introduction**

The Meyer-Konig and Zeller operators [13] defined on interval  $[0, 1]$  are given as follows

$$P_n f(x) = \sum_{v=0}^{\infty} m_{n,v}(x) f\left(\frac{v}{n+v}\right), \quad x \in [0, 1], \quad n \in N \quad (1.1)$$

where

$$m_{n,v} = \binom{n+v-1}{v} x^v (1-x)^n.$$

Some integral properties of operators (1.1) were discussed in [[3], [6], [8], [15]]. Here we discuss the other generalization of the Meyer-Konig Zeller operators.

In order to approximate Lebesgue integrable function on the interval  $[0, 1]$ , we define the integral modification of the operators (1.1) as follows

$$M_{n,\alpha}(f, x) = \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) \int_0^1 b_{n,v}(t) f(t) dt, \quad x \in [0, 1] \quad (1.2)$$

for  $\alpha \geq 1$ , we have

$$P_{n,v}^{(\alpha)} = \left( \sum_{j=v}^{\infty} m_{n,j} \right)^{\alpha} - \left( \sum_{j=v+1}^{\infty} m_{n,j} \right)^{\alpha}$$

and

$$b_{n,v}(t) = \frac{(n+v)!}{v!(n-1)!} t^v (1-t)^{n-1}.$$

Operators (1.2) represent a new type of integral modification of Meyer-Konig and Zeller operators. Other integral modifications of these operators were considered in [1], [2], [5],

[10] and [14]. For similar type of operators some approximation properties were studied in [4], [7], [9], [11] and [12].

For  $\alpha = 1$ , the operators (1.2) reduce to

$$M_{n,1}(f, x) = \sum_{v=0}^{\infty} m_{n,v}(x) \int_0^1 b_{n,v}(t) f(t) dt. \quad (1.3)$$

In the present paper, we study approximation properties of operators (1.2) for functions of bounded variation and also give an estimate of the rate of convergence of  $M_{n,\alpha}(f, x)$ .

Last section deals with the estimation of some generalized Meyer-Konig-Zeller operators studied by [3], [15] and [16] etc. These operators are defined as

$$\tilde{Q}_{n,\alpha}(f, x) = \sum_{v=0}^{\infty} \left( \frac{P_{n,v}^{(\alpha)}(x)}{\int_{\frac{v}{n+v}}^{\frac{v+1}{n+v+1}} dt} \right) \int_{\frac{v}{n+v}}^{\frac{v+1}{n+v+1}} f(t) dt = \int_0^1 f(t) L_{n,\alpha,2}(x, t) dt,$$

where  $\alpha \leq 1$ ,  $L_{n,\alpha,2}(x, t) = \sum_{v=0}^{\infty} \frac{P_{n,v}^{(\alpha)} \phi_v(t)}{\int_I \phi_v(u) du}$ ,

and  $\phi_v$  is the characteristic of interval  $[\frac{v}{n+v}, \frac{v+1}{n+v+1}]$  with respect to  $I = [0, 1]$  and  $P_{n,v}^{(\alpha)}(x)$  are given in (1.2).

## 2 Basic Results

In order to prove our main result, we need the following lemmas.

**Lemma 2.1.** [16]. *For all  $v, n \in N$ ,  $x \in [0, 1]$ , we have*

$$m_{n,v}(x) = \frac{1}{\sqrt{2e}} \cdot \frac{1}{\sqrt{nx}},$$

where the constant  $\frac{1}{\sqrt{2e}}$  is the best possible.

**Lemma 2.2.** *For  $r \in N^0$ , where  $N^0$  is the set of non-negative integers, we define*

$$M_{n,1}((t-x)^r, x) = \sum_{v=0}^{\infty} m_{n,v}(x) \int_0^1 b_{n,v}(t) (t-x)^r dt,$$

then

$$M_{n,1}((t-x)^2, x) \leq \frac{4x}{n-1} + \frac{2(1-x)^2}{(n-1)(n-2)}.$$

*Proof.* Taking  $e_r(x) = x^r$ ,  $r = 0, 1, 2, \dots$ , the moments of operators (1.3) are given by

$$M_{n,1}(t^r, x) = \sum_{v=0}^{\infty} m_{n,v}(x) \frac{(n+v)!}{v!(n-1)!} B(v+r+1, n),$$

where  $B$  being the Beta function and  $M_{n,1}e^0 = e^0 = 1$ .

$$M_{n,1}(t, x) = (1-x)^n \sum_{v=0}^{\infty} \binom{n+v-1}{v} x^v \frac{(v+1)}{(n+v+1)}$$

$$\begin{aligned}
&\geq (1-x)^n \sum_{v=0}^{\infty} \binom{n+v-2}{v-1} x^v \frac{(v+1)}{v} \cdot \frac{(n+v-1)}{(n+v-1)} \\
&\geq (1-x)^n \sum_{v=0}^{\infty} \binom{n+v-1}{v} x^{v+1} \left[1 - \frac{2}{n+1}\right] = \left[1 - \frac{2}{n+1}\right] x,
\end{aligned}$$

and

$$\begin{aligned}
M_{n,1}(t^2, x) &= (1-x)^n \sum_{v=0}^{\infty} \binom{n+v-1}{v} x^v \frac{v(v-1) + 4v + 2}{(n+v+1)(n+v+2)} \\
&\leq \frac{(1-x)^n}{(n-1)!} \sum_{v=2}^{\infty} \frac{(n+v-3)!}{(v-2)!} x^v + 4 \sum_{v=1}^{\infty} \frac{(n+v-3)!}{(v-1)!} x^v + 2 \sum_{v=0}^{\infty} \frac{(n+v-3)!}{(v)!} x^v \\
&\leq (1-x)^n \left[ \sum_{v=0}^{\infty} \binom{n+v-1}{v} x^{v+2} + \frac{4}{(n-1)} \sum_{v=0}^{\infty} \binom{n+v-1}{v} x^{v+1} \right. \\
&\quad \left. + \frac{2}{(n-1)(n-2)} \binom{n+v-1}{v} x^v \right] \\
&= x^2 + \frac{4x(1-x)}{(n-1)} + \frac{2(1-x)^2}{(n-1)(n-2)}.
\end{aligned}$$

Combining these estimates, we have

$$\begin{aligned}
M_{n,1}((t-x)^2, x) &= M_{n,1}(t^2, x) - 2xM_{n,1}(t, x) \\
&\leq \frac{4x}{(n-1)} + \frac{2(1-x)^2}{(n-2)(n-1)}.
\end{aligned}$$

Particularly, for given  $\mu > 4$  and  $x \in (0, 1)$ , there exists an integer  $N(\mu, x)$  such that  $\forall n \geq N(\mu, x)$

$$M_{n,1}((t-x)^2, x) \leq \frac{\mu x}{n}.$$

□

**Lemma 2.3.** For all  $x \in (0, 1]$  and  $v$  be a natural number, there holds

$$P_{n,v}^{(\alpha)}(x) \leq \alpha m_{n,v}(x) < \frac{\alpha}{\sqrt{2}enx}.$$

*Proof.* Since  $|a^\alpha - b^\alpha| \leq \alpha|a - b|$ , ( $0 \leq a, b \leq 1, \alpha \geq 1$ ). Then by Lemma 1, we have

$$P_{n,v}^{(\alpha)}(x) \leq \alpha m_{n,v}(x) < \frac{\alpha}{\sqrt{2}enx}.$$

□

**Lemma 2.4.** Let  $L_{n,\alpha}(x, t) = \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) b_{n,v}(t)$  and  $\mu > 4$ ,  $n \geq N(\mu, x)$ , then

$$(i) \mu_{n,\alpha}(x, y) = \int_0^y L_{n,\alpha}(x, t) dt \leq \frac{\alpha \mu x}{n(x-y)^2}, \quad 0 \leq y < x.$$

$$(ii) 1 - \mu_{n,\alpha}(x, y) = \int_z^1 L_{n,\alpha}(x, t) dt \leq \frac{\alpha \mu x}{n(z-x)^2}, \quad x < z \leq 1.$$

*Proof.* To prove (i),

$$\begin{aligned} \int_0^y L_{n,\alpha}(x,t)dt &\leq \int_0^y L_{n,\alpha}(x,t) \frac{(x-t)^2}{(x-y)^2} dt \\ &\leq \frac{1}{(x-y)^2} M_{n,\alpha}((t-x)^2, x) \leq \frac{\alpha M_{n,1}(t-x)^2, x}{(x-y)^2} \leq \frac{\alpha \mu x}{n(x-y)^2}. \end{aligned}$$

Proof of (ii) is similar as Lemma 2. □

**Lemma 2.5.** [15] For  $x \in (0, 1)$ , we have

$$\left| \sum_{\frac{nx}{1-x} < v} m_{n,v}(x) - \frac{1}{2} \right| \leq \frac{5}{2\sqrt{nx}}.$$

### 3 Main Results

Following section deals with the main theorems

**Theorem 3.1.** Consider a function  $f$  of bounded variation on  $[0, 1]$ ,  $\alpha \geq 1$ . Then for every  $x \in [0, 1)$  and  $\mu > 4$  and  $n \geq \max N(\mu, \alpha), 3$ , we have

$$\begin{aligned} \left| M_{n,\alpha}(f, x) - \left[ \frac{1}{\alpha+1} f(x+) - \frac{\alpha}{\alpha+1} f(x-) \right] \right| &\leq \frac{1}{2} \left[ \frac{\alpha^2 + \alpha - 2}{\alpha + 1} + \frac{\alpha}{\sqrt{2e\sqrt{nx}}} \right] + |f(x+) - f(x-)| \\ &\quad + \frac{(2\mu\alpha + x)}{nx} \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}} h_x(t), \end{aligned}$$

where

$$h_x(t) = \begin{cases} f(t) - f(x-), & t \in [0, x) \\ 0, & t = x \\ f(t) - f(x+), & t \in (x, 1] \end{cases}$$

$V_a^b(h_x)$  being the total variation of  $h_x$  on  $[a, b]$ .

*Proof.* Since

$$\begin{aligned} \left| M_{n,\alpha}(f, x) - \left[ \frac{1}{\alpha+1} f(x+) + \frac{\alpha}{\alpha+1} f(x-) \right] \right| &\leq \left| M_{n,\alpha}(\text{sgn}(t-x), x + \left( \frac{\alpha-1}{\alpha+1} \right)) \right| \frac{|f(x+) - f(x-)|}{2} \\ &\quad + |M_{n,\alpha}(h_x, x)|, \end{aligned} \tag{3.1}$$

we have,

$$\begin{aligned} M_{n,\alpha}(\text{sgn}(t-x), x) &= \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) \left( \int_x^1 b_{n,v}(t) dt - \int_0^x b_{n,v}(t) dt \right) \\ &= \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) \left( \int_0^1 b_{n,v}(t) dt - 2 \int_0^x b_{n,v}(t) dt \right) \end{aligned}$$

$$= 1 - 2 \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) \int_0^x b_{n,v}(t) dt.$$

Applying Lemma 1, Lemma 3 and the fact  $\sum_{j=0}^v m_{n,j}(x) = \int_x^1 b_{n,v}(t) dt$ , we have

$$\begin{aligned} M_{n,\alpha}(\operatorname{sgn}(t-x), x) &= 1 - 2 \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) \left( 1 - 2 \sum_{j=0}^v m_{n,j}(x) \right) \\ &= -1 + 2 \sum_{v=0}^{\infty} P_{n,v}^{(\alpha)}(x) \left( \sum_{j=0}^v m_{n,j}(x) \right) \leq -1 + 2\alpha \sum_{v=0}^{\infty} m_{n,v}(x) \sum_{j=0}^v m_{n,j}(x) \\ &= -1 + \alpha + \alpha \left[ \sum_{v=0}^{\infty} m_{n,v}(x) \sum_{j=0}^v m_{n,j}(x) - \sum_{v=0}^{\infty} (m_{n,v}(x))^2 \right] \\ &\leq \alpha - 1 + \alpha m_{n,v}(x) \sum_{v=0}^{\infty} m_{n,v}(x) \leq \alpha - 1 + \frac{\alpha}{\sqrt{2e\sqrt{nx}}}. \end{aligned}$$

Hence

$$\left| M_{n,\alpha}(\operatorname{sgn}(t-x), x + \left( \frac{\alpha-1}{\alpha+1} \right)) \right| \leq \frac{\alpha^2 + \alpha - 2}{\alpha + 1} + \frac{\alpha}{\sqrt{2e\sqrt{nx}}}. \quad (3.2)$$

Now to estimate  $M_{n,\alpha}(h_x, x)$ , applying the Lebesgue-Stieltjes integral representation, we get

$$\begin{aligned} M_{n,\alpha}(h_x, x) &= \int_0^1 L_{n,\alpha}(x, t) h_x(t) dt \\ &= \left( \int_0^{x - \frac{x}{\sqrt{n}}} L_{n,\alpha}(x, t) dth_x(t) dt + \int_{x - \frac{x}{\sqrt{n}}}^{x + \frac{(1-x)}{\sqrt{n}}} L_{n,\alpha}(x, t) dth_x(t) dt \right. \\ &\quad \left. + \int_{x + \frac{(1-x)}{\sqrt{n}}}^1 L_{n,\alpha}(x, t) dth_x(t) dt \right) \\ &=: J_1 + J_2 + J_3. \end{aligned}$$

To estimate  $J_1$ , putting  $x - \frac{x}{\sqrt{n}} = y$  and using Lebesgue-Stieltjes integral with  $\mu_{n,\alpha}(x, t) = \int_0^t L_{n,\alpha}(x, z) dz$ , we get

$$J_1 = \int_0^y h_x(t) dt (\mu_{n,\alpha}(x, t)) = h_x(y+) \mu_{n,\alpha}(x, y) - \int_0^y h_x(t) dt (\mu_{n,\alpha}(x, t)).$$

Since  $|h_x(y+)| \leq V_{y+}^x(h_x)$ , we follow that

$$|J_1| \leq V_{y+}^x(h_x) \mu_{n,\alpha}(x, y) + \int_0^y \mu_{n,\alpha}(x, t) dt - (V_t^x(h_x)).$$

Applying (i) of Lemma 4, we get

$$|J_1| \leq V_{y+}^x(h_x) \frac{\alpha \mu x}{n(x-y)^2} + \frac{\alpha \mu x}{n} \int_0^y \frac{1}{(x-t)^2} dt (-V_t^x(h_x)).$$

Integrating by parts and by simple computation, we get

$$|J_1| \leq \frac{\alpha\mu x}{n} \left[ \frac{V_0^x(h_x)}{x^2} + 2 \int_0^y \frac{V_t^x(h_x)}{(x-t)^3} dt \right].$$

Changing the variable  $y$  as  $\left(x - \frac{x}{\sqrt{n}}\right)$ , we have

$$|J_1| \leq \frac{\alpha\mu}{nx} \left[ V_0^x(h_x) + \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^x \right] \leq \frac{2\alpha\mu}{nx} V_{x-\frac{x}{\sqrt{v}}}^x(h_x). \quad (3.3)$$

According to Lemma 4, we have

$$|J_3| \leq \frac{2\mu\alpha}{nx} \sum_{v=1}^n V_{x+\frac{(1-x)}{\sqrt{v}}}^x(h_x). \quad (3.4)$$

Now to estimate  $J_2$ , for  $t \in \left[x - \frac{x}{\sqrt{n}}, x + \frac{(1-x)}{\sqrt{n}}\right]$ , we have

$$|h_x(t)| = |h_x(t) - h_x(x)| \leq V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}}(h_x),$$

hence

$$|J_2| \leq V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}}(h_x) \int_{x-\frac{x}{\sqrt{v}}}^{x-\frac{(1-x)}{\sqrt{v}}} dt (\mu_{n,\alpha}(x, t)).$$

Since  $\int_a^b \mu_n(x, t) dt \leq 1$  for  $(a, b) \subset [0, 1]$ , hence

$$|J_2| \leq V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}}(h_x) \leq \frac{1}{n} \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}}(h_x). \quad (3.5)$$

Collecting the estimates from (3.2) to (3.5), we get

$$|M_{n,\alpha}(h_x, x)| \leq \frac{(2\mu\alpha + x)}{nx} \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}}(h_x). \quad (3.6)$$

Combining (3.1),(3.2) and (3.6), we get the proof of the theorem.  $\square$

**Theorem 3.2.** Let  $n > 2$ ,  $\omega_n = \frac{4}{(n-1)\delta^2} \left(1 + \frac{1-\delta}{12(n-2)\delta}\right)$ , where  $0 < \delta \leq x \leq 1 - \delta$ , then

(i) For  $0 < y < x$ , there holds

$$\int_0^y L_{n,\alpha,2}(x, t) dt \leq \frac{\alpha\omega_n x^3 (1-x)}{(x-y)^2}. \quad (3.7)$$

(ii) For  $x < y < 1$ , there holds

$$\int_z^1 L_{n,\alpha,2}(x, t) dt \leq \frac{\alpha\omega_n x (1-x)^3}{(x-y)^2}. \quad (3.8)$$

*Proof.* According to [10] for  $x \in (0, 1)$ ,  $n > 2$ , we get

$$\tilde{Q}_{n,1}((t-x)^2, x) \leq \frac{4x(1-x)}{(n-1)} + \frac{1}{3} \frac{(1-x)^2}{(n-1)(n-2)}. \quad (3.9)$$

Using (3.9)

$$\begin{aligned} \int_0^y L_{n,\alpha,2}(x, t) dt &\leq \int_0^y L_{n,\alpha,2}(x, t) \frac{(x-t)^2}{(x-y)^2} dt \leq \frac{\alpha}{(x-y)^2} \tilde{Q}_{n,\alpha}((t-x)^2, x) \\ &\leq \frac{\alpha}{(x-y)^2} \left[ \frac{4x(1-x)}{(n-1)} + \frac{(1-x)^2}{3(n-1)(n-2)} \right] \\ &\leq \frac{4\alpha x^3(1-x)}{\delta^2(n-1)(x-y)^2} \left[ 1 + \frac{\frac{1}{\delta} - 1}{12(n-2)} \right] \\ &\leq \frac{\alpha \omega_n x^3(1-x)}{(x-y)^2}, \end{aligned}$$

which is the proof of (3.7). Proof of (3.8) is similar.  $\square$

**Theorem 3.3.** Suppose  $f$  be a function of bounded variation on the interval  $[0, 1)$ , then  $\forall x \in (0, 1)$ ,  $n > 2$  and  $0 < \delta \leq (1-x)$ , we have

$$\begin{aligned} \left| \tilde{Q}_{n,\alpha}(f, x) - \frac{1}{2^\alpha} f(x+) - \left(1 - \frac{1}{2^\alpha}\right) f(x-) \right| &\leq \left( \frac{5}{2} + \frac{1}{\sqrt{2e}} \right) \frac{\alpha}{\sqrt{nx}} |f(x+) - f(x-)| \\ &\quad + \left( 2\alpha \omega_n x(1-x) + \frac{1}{n-1} \right) \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}} (h_x). \end{aligned}$$

where  $h_x(t)$  and  $V_a^b(h_x)$  are defined in theorem 1 and  $\omega_n$  is given in theorem 2.

*Proof.* Now

$$\begin{aligned} \left| \tilde{Q}_{n,\alpha}(f, x) - \frac{1}{2^\alpha} f(x+) - \left(1 - \frac{1}{2^\alpha}\right) f(x-) \right| &\leq \left| \tilde{Q}_{n,\alpha}(h_x, x) \right| \\ &\quad + \left| \frac{f(x+) - f(x-)}{2^\alpha} + \tilde{Q}_{n,\alpha}(\text{sgn}(t-x), x) \right| \\ &\quad + \left[ f(x+) - \frac{1}{2^\alpha} f(x+) - \left(1 - \frac{1}{2^\alpha}\right) f(x-) \right] \tilde{Q}_{n,\alpha}(\delta_x, x). \end{aligned}$$

According to [15]  $\tilde{Q}_{n,\alpha}(\delta_x, x) = 0$ , and

$$\tilde{Q}_{n,\alpha}(\text{sgn}(t-x), x) \leq \alpha 2^\alpha \left| \sum_{\frac{nx}{1-x} < v} m_{n,v}(x) - \frac{1}{2} \right| + 2^\alpha P_{n,v'}^{(\alpha)}(x), \text{ where } x \in \left[ \frac{v'}{n+v'}, \frac{v'+1}{n+v'+1} \right]$$

By using Lemma 3 and Lemma 5, we have,

$$\left| \tilde{Q}_{n,\alpha}(\text{sgn}(t-x), x) \right| \leq \left( \frac{5}{2} + \frac{1}{\sqrt{2e}} \right) \frac{2^\alpha \alpha}{\sqrt{nx}}.$$

Now to estimate  $\tilde{Q}_{n,\alpha}(h_x, x)$ , we follow

$$\begin{aligned}\tilde{Q}_{n,\alpha}(h_x, x) &= \int_0^1 L_{n,\alpha,2}(x, t)h_x(t)dt \\ &= \left( \int_0^{x-\frac{x}{\sqrt{n}}} + \int_{x-\frac{x}{\sqrt{n}}}^{x+\frac{(1-x)}{\sqrt{n}}} + \int_{x+\frac{(1-x)}{\sqrt{n}}}^1 \right) L_{n,\alpha,2}(x, t)h_x(t)dt \\ &= : E_1 + E_2 + E_3.\end{aligned}$$

Proofs of  $E_1$   $E_2$ ,  $E_3$  are according to similar lines of [15]. We have

$$|E_2| \leq V_{x-\frac{x}{\sqrt{n}}}^{x+\frac{(1-x)}{\sqrt{n}}}(h_x) \leq \frac{1}{n-1} \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^{x+\frac{(1-x)}{\sqrt{v}}}(h_x).$$

Taking  $y = x - \frac{x}{\sqrt{v}}$  and using integration by parts with  $\gamma_{n,\alpha}(x, t) = \int_0^t L_{n,\alpha,2}(x, u)du$ , we have

$$\begin{aligned}E_1 &= \int_0^y h_x(t)dt(\gamma_{n,\alpha}(x, t)) = h_x(y+)\gamma_{n,\alpha}(x, y) - \int_0^y \gamma_{n,\alpha}(x, t)dt(h_x(t)) \\ &\leq V_{y+}^x(h_x)\gamma_{n,\alpha}(x, y) + \int_0^y \gamma_{n,\alpha}dt(-V_t^x(h_x)).\end{aligned}$$

According to (3.7) of theorem 2, we get

$$E_1 \leq V_{y+}^x(h_x) \frac{\alpha\omega_n x^3(1-x)}{(x-y)^2} + \alpha\omega_n x^3(1-x) \int_0^y \frac{1}{(x-t)^2} dt (-V_t^x(h_x)).$$

Integrating by parts, we get,

$$|E_1| \leq \alpha\omega_n x^3(1-x) \left[ \frac{V_0^x(h_x)}{x^2} + 2 \int_0^y \frac{-V_t^x(h_x)}{(x-t)^3} dt \right].$$

Putting  $y = \left(x - \frac{x}{\sqrt{v}}\right)$  in the last integral, we have

$$\begin{aligned}|E_1| &\leq \frac{1}{x^2} \alpha\omega_n x^3(1-x) \left[ V_0^x(h_x) + \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^x \right] \\ &\leq 2\alpha\omega_n x(1-x) \sum_{v=1}^n V_{x-\frac{x}{\sqrt{v}}}^x(h_x).\end{aligned}$$

Similarly, we get

$$|E_3| \leq 2\alpha\omega_n x(1-x) \sum_{v=1}^n V_{x-\frac{x}{\sqrt{n}}}^x(h_x).$$

Combining the estimates of  $E_1$ ,  $E_2$ ,  $E_3$ , we get the required theorem.  $\square$

### Acknowledgement

Authors are thankful for referees for their valuable suggestions and National Board of Higher Mathematics for sanctioning a project in the field of Approximation Theory.



## References

- [1] O. Agratini, Korokvin type error estimates for Meyer-Konig and Zeller operators, *Math. Ineq. and Appl.*, **4(1)**(2001),119-126.
- [2] J. Bustamante, A. Miguel and J. Pozo, Meyer Konig and Zeller operators and some of their modifications, *Jean J. of Approximation*, **5(2)** (2013), 101-178.
- [3] S. Guo, On the rate of convergence of the integrated Meyer-Konig and Zeller operators for functions of bounded variation, *J. Approx. Theory*, **56(3)** (1989), 245-255.
- [4] S. Guo, Degree of approximation to functions of bounded variation by certain operators, *Approx. Theory and its Appl.*, **4(2)** (1988), 9-18.
- [5] S. Guo and Q. Qi, The moments of Meyer-Konig and Zeller operators, *Appl. Math. Letters*, **20(7)** (2007), 719-722.
- [6] V. Gupta, A note on Meyer-Koing and Zeller operators for functions of bounded variation, *Approx. Theory Appl. (N.S)*, **18(3)** (2002), 99-102.
- [7] V. Gupta, A sharp estimate on the degree of approximation for functions of bounded variation by certain operators, *Approx. Theory and its Appl.*, **11(3)** (1995), 106-107.
- [8] V. Gupta and U. Abel Rate of convergence by a new type of Meyer-Konig and Zeller operators, *Fasc. Math.*, **34** (2004), 15-23.
- [9] V. Gupta and P. Maheshwari, Bezier variant of a new Durrmeyer type operators, *Rivista Di Mate. Della Univ. di Parma*, **7(2)** (2003), 9-21.
- [10] E.R. Love and G. Prasad, A. Sahai, An improved estimate of the rate of convergence of the integrated Meyer-Konig and Zeller operators for functions of bounded variation, *J. Math. Anal. Appl.* **187(1)** (1994), 1-16.
- [11] P. Maheshwari (Sharma), On modified Srivastava- Gupta operators, *FILOMAT*, **29(6)** (2015), 1173-1177.
- [12] P. Maheshwari, An inverse results in simultaneous approximation of modified Beta operators, *Georgian Math. J.*, **13(2)** (2006), 297-306.
- [13] W. Meyer-Konig and K. Zeller, Bernsteinsche Pootenzreihen, *Studia Math.*, **19** (1960), 89-94.
- [14] L. Rempulska and K. Tomczak, On certain modified Meyer-Konig and Zeller operators, *Turk. J. Math.*, **30** (2006), 117-127.
- [15] X. M. Zeng, Rates of approximation of bounded variation functions by two generalized Meyer-Konig and Zeller type operators, *Comput. Math. Appl.*, **39 (9-10)** (2000), 1-13.
- [16] X. M. Zeng, Bounds for Bernstein basis functions and Meyer- Konig and Zeller basis functions, *J. Math. Anal. Appl.*, **219** (1998), 364-376.